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Newton’s method
_ f(zn)
I’u+] =T f_,(:rn)
( i
Example: 4
S:II'J.(;!'.I') =z
S i
Let f(z) = 3% — g
2 “1‘( i “'. - - X L". -.. f {.."-',2) Y COS( ‘L‘)e‘-ﬂlﬂ x) 1
Iy = 2 P
x; = 1.6110154703516575
Ay u~‘ Y22 = 1.6609035259641185
A S g -

| -zg = 1.6611375113211584

I

v e T p'0 ag = 1.6611375194231848
‘s = 1.6611375194231848
but
-Ft -.""""‘-
o = 0.367879441

o = 10.7004442394773245
x5 = 0.8682758685413106
24 = 13.55349391880111
.. T100 = —201.15250823446343
.. T130 = 1.6611375194231848

Failure:
C g (r) (1/3)9:—2/:/
flz)
e /f
S0 Tp41 = —2x,, so diverges unless zg = 0.
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